KTPS> 25 [BFFTILKX]

G=X:[] B E A RP =Rt | BN | ABR | TRV | &F

1|FE &5 (CxWLHAT) 352 128 128 64 96 416

2| 7% [E—HB (JETS) 320 128 128 64 32 352

VIFT BEx (JETS) 288 32 32 128 128 320

4| K8 1Eth (F=R/8—%) 256 96 0 64 96 256

5|5 H Rl (FRTC) 224 64 32 96 64 256

6L B C D) 224 64 64 96 224

6|HF A (F=R/8—%) 224 96 0 128 224

8| RiZE 1B (BLAHETC) 192 32 96 64 192

9|BF8E Nt |[ERT=XmE)| 160 32 128 160

10|=F %# (F=RI\—%) 128 32 64 32 32 160
11FB —hk (JETS) 128 32 64 32 128
11|ARJ)I F0EE (CxLHAT) 128 32 32 64 128
13|36 SaR (OARHETC) 104 96 8 104
13|7EE it (FRTC) 104 64 32 8 104
15(—F #X (CxWLHAT) 96 32 32 32 96
15[FHk E (F=R/8—%) 96 32 32 32 96
15|k JRRE (FT=RI8—%) 96 32 32 32 96
15|5E &EX C D) 96 64 32 96
19)db# &n— (DARHETC) 72 64 8 72
20(#R HE |(BIT=ABE 64 64 64
20(Bf EzN  |BIIT=RABE 64 64 64
22|7E EEEE (BIT=—RHB= 32 32 32
22|118% EBX U 32 32 32
22|#1L X U 32 32 32
2|55 # (CoWHAT) 32 32 32
2215FA T/ [(T=R/\—=HJr)| 32 32 32
22|%f £ 1% (F=R/A—=4Jdn)| 32 0 32 32
22(lUE iR |((BIIT=RBE 32 32 32
2|EE KZ (7Y)—) 32 32 32
30| L% {EXBA[ (FIRRAIIX) 22 10 4 8 22
SRS (T=RIN—%) 18 0 10 8 18
2EH HIE U 16 0 16 16
32|TEIR R (FRTC) 16 16 16
32|85 K KF0 (DAKTC) 16 16 0 16
R2(HEKR —& (DAKTC) 16 16 0 16
36| btk ZREL (EE5=—) 12 8 4 0 12
36|FiFE BIZ (HIFR LK) 12 4 0 8 12
36|HF 1EE (E5=—) 12 8 4 0 12
9|hF B’ (DAKTC) 10 0 10 10
39[HBEE EEE € =Nob ) 10 10 10
41 (BT ER FD4 € =Nob ) 8 0 0 8 8
M|/MNEF L (FRTC) 8 0 8 8
A[/VE #ER (CoLHAT) 8 0 8 8
41|55 FA| (CoLHAT) 8 0 0 8 8
MNEF Bl (T=RIN—%) 8 0 8 8
43RO &8 C D) 8 8 8
MEAKRK B—| EE353=—) 8 8 0 8
MPH EE € =Nob ) 8 4 4 8
A|EHE BEE (CxWLHAT) 8 8 8
41|5hEH K&§ (CvWLHAT) 8 0 0 8 8
M|EH % ClEIED) 8 8 0 8
M= E [(BERAUVCETO) 8 8 8
MLBa fE (FRTC) 8 0 0 8 8
M|iEE {Z8 (CxWLHAT) 8 0 8 8
M|EE BEER  |[(DLALavy) 8 0 8 0 8
MER B (FRTQC) 8 0 8 8
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MR FEFT (7)) 8 8
58| i BIRSE) 4 4

5828 E&E U 4 4

58|/NEB B— (T=RIN\—%) 4 0 4

58|&%F R (CxWLHAT) 4 4 0
58| KT Ef (B ALF5) 4 4 0

581t 8 Fih (FRTC) 4 4 0
58| Xk 1EfC BIRESE) 4 4 0
58K #EZ (&AL &) 4 4

58|pkH &% (7)) 4 4

58(¥EY] & €[NP ) 4 4

58|=F #ER (FIFR LK) 4 4

588 Exi | (T=R/8\—%) 4 0 4
10fER”RAKR ER[(TLALavY) 2 2

0(5H BEE |[(TLA4LIavY) 2 0 2 0
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